
SAP ABAP table ROIGSVMQ {Internal Table - TD Quantity item for material on vehicle}

ROIGSVMQ

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)]

SHITEM [NUMC (4)]

POSNR [NUMC (6)]

TPU_NR [NUMC (3)]

VEH_NR [NUMC (3)]

TRUOM [UNIT (3)]

MATNR [CHAR (18)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

CHARG [CHAR (10)]

BWTAR [CHAR (10)]

REAS_CODE [CHAR (2)]

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 ROIGSVMQ-MATNR = MARA-MATNR 
0..N

0..N

MCHB

MANDT [CLNT (3)]

MATNR [CHAR (18)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

CHARG [CHAR (10)]

 ROIGSVMQ-CHARG = MCHB-CHARG 
0..N

0..N

OIGS

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)]

 ROIGSVMQ-SHNUMBER = OIGS-SHNUMBER 
0..N

0..N

OIGSI

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)]

SHITEM [NUMC (4)]

 ROIGSVMQ-SHITEM = OIGSI-SHITEM 
0..N

0..N

OIGSV

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)]

VEH_NR [NUMC (3)]
 ROIGSVMQ-VEH_NR = OIGSV-VEH_NR 0..N

0..N

OIGSVC

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)]

VEH_NR [NUMC (3)]

TPU_NR [NUMC (3)]

 ROIGSVMQ-TPU_NR = OIGSVC-TPU_NR 
0..N

0..N

T000

MANDT [CLNT (3)]

 ROIGSVMQ-CLIENT = T000-MANDT 

0..N

0..N

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 ROIGSVMQ-LGORT = T001L-LGORT 

0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 ROIGSVMQ-WERKS = T001W-WERKS 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 ROIGSVMQ-TRUOM = T006-MSEHI 

0..N

0..N

T149D

MANDT [CLNT (3)]

BWTAR [CHAR (10)]

 ROIGSVMQ-BWTAR = T149D-BWTAR 

0..N

0..N

TOIGS4

CLIENT [CLNT (3)]

TDACT [CHAR (1)]

REAS_CODE [CHAR (2)]

 ROIGSVMQ-REAS_CODE = TOIGS4-REAS_CODE 

0..N

0..N


